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TRACHEO BRONCHIAL TREE 

• The trachea, bronchi and bronchioles form the 
tracheobronchial tree – a system of airways 
that allow passage of air into the lungs, where 
gas exchange occurs. 

•  These airways are located in the neck and 
thorax. 



TRACHEA 

• The trachea marks the beginning of the 
tracheobronchial tree. It arises at the lower 
border of cricoid cartilage in the neck, as a 
continuation of the larynx. 

 

• It travels inferiorly into the superior mediastinum, 
bifurcating at the level of the sternal angle 
(forming the right and left main bronchi).  

• As it descends, the trachea is located anteriorly to 
the oesophagus, and inclines slightly to the right. 



































APPLIED ANATOMY….ASTHMA 

• Asthma is a chronic inflammatory disorder of 
the airways, characterised by hypersensitivity, 
reversible outflow obstruction and 
bronchospasm. 

 

• There is remodelling of the small airways, 
causing increased smooth muscle thickness 
around the bronchioles, damaged epithelium 
and a thickened basement membrane. 



ASTHMA 

• Asthma attacks” are acute exacerbations of 
the condition whereby a trigger (e.g. 
allergens, exercise) causes sudden 
inflammation and contraction of the smooth 
muscle around bronchioles (bronchospasm). 

 

•  This narrows the airways, causing difficulty in 
breathing and wheezing, a characteristic 
feature of asthma. 



ASTHMA 























QUIZ 

• The trachea is a continuation of what upper respiratory 
tract structure? 
 
 

• Oesophagus 
 

• Oropharynx 
 

• Laryngopharynx 
 

• Larynx 



ANSWER 

• The trachea marks the beginning of the 
tracheobronchial tree.  

• It arises at the lower border of cricoid 
cartilage in the neck, as a continuation of the 
larynx. 


